
 

 

FMCTMK7 & FMCTMK7WB INSTALLATION INSTRUCTIONS 
 

 

Please thoroughly read through and familiarize yourself with these instructions in their entirety prior to 

beginning any part of the installation process of any component as incorrect installation may void your 

warranty. Also ensure the engine has cooled down sufficiently to avoid risking possible skin burns or other 

injury.  

 

Tools required 
Socket wrench and suitable extension 

10mm Socket 
3mm Allen Key 
3/16” Allen Key 

 
 

 
1. If you have purchased FMCTMK7 please go to step 6. 

 
2. To avoid too much spillage of screen wash fluid, syphon out the top reservoir. 

 
3. Using an extended wrench and 10mm socket, remove the nut that attaches the screen wash reservoir to the 

engine mount. Then pull the reservoir directly up to remove it. 

 



 

 

 

 

4. Attach the Forge lower bracket to the Forge washer bottle using 2x M4 x 6 (shorter) bolts supplied. Then screw 
the Forge tube to the bottle. 
 

                                
 

5. Carefully insert the small end of the tube (lubricate if required) in to the lower screen wash reservoir.  
 

6. Attach the bracket to the engine mount stud using the M6 penny washer and M6 Nyloc nut provided.  
 

 
 
 
 
 
 

FMCTMK7WB FMCTMK7 



 

 
 
 
 
 
 

7. Attach the Forge upper bracket to the catch can using 2x M4 x 8 bolts (Do not fully tighten yet) Ensure the drain 
tap is closed. Now attach the bracket with catch can to the engine mount using M6 washer and M6 x 16 bolt 
provided. (Do not fully tighten yet) 
 

      
 
 

 

8. Disconnect the connector – squeeze plastic ring and lift. Attach hose ends as illustrated below 
 

 
 
 
 
 
 
 
 

To IN port  

To OUT port  



 

 
 
 
 
 

9. Once the hoses are neatly routed, attach supplied dual hose clamp and finally tighten bolts from Step 7. If you 
have fitted FMCTMK7WB then top up the screen wash fluid until visible in Forge bottle. 

 

10. Installation is now complete. 

Please note:  We advise frequent checks initially until you are familiar with the amount of contaminants the catch can 
collects from your engine. 
For trouble free engine breathing always drain when the level indicator on the dipstick is reached. 

 

For a full range of performance products for your vehicle. 

As always, with any questions or concerns about this product or anything else, please feel free to contact your local or 
preferred Forge Motorsport Dealer/ Installer, or you may contact us directly. 

Forge Motorsport UK - (+44)1 452 380 999 / info@forgemotorsport.co.uk   http://www.forgemotorsport..co.uk  

Forge Motorsport US - (407)-447-5363 / sales@forgemotorsport.co.uk   http://www.forgemotorsport.com   

Forge Motorsport Asia – (+886)-4-22516887 / sales@forgemotorsport.asia  http://www.forgemotorsport.asia 

Engineered for performance 

 

mailto:info@forgemotorsport.co.uk
http://www.forgemotorsport..co.uk/
mailto:sales@forgemotorsport.co.uk
http://www.forgemotorsport.com/
mailto:sales@forgemotorsport.asia
http://www.forgemotorsport.asia/

